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Sixth Semester B.E. Degree Examihhtion, Aug./Sept.2OZ0
Gom puter Gommunicition Networks
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Note: Answer uty FIVE full questiorts}E}ryosing ONE full questioil from each nrudule.
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I a. Outline the functions of varibui-lilayers in TCPIP with ne-oessary diagram to show logical
connecl.ion between layels. (08 Marks)

b. Explain the various services of datalink layer. (08 Marks)

= . oR ..,,, i

2 a. Explain stop and wait protocol. Also explain with necessary diagrams how sequence and
acknowledge nuuibers pl'event dLrplication g.f frames. (10 Marks)

b. Conrpare y,a1.ious physical topologies in a computer network. (06 Marks)

3 a. List ii16 Uontrolled access ,lethodsi,AGFi, reservati'tri access method. (06 Marks)
b. Summarize standard Ethemet implementations. (04 Marks)
c. A pure ALOHA network transmits 200 bit tamesJn'a'ihared channet 6flOO kbps. What is

the throughput if the sys-tem'pioduces :

i) 1000 lrarnes per seCond :-
iD 500 frames per segond ,.,- .)"
iii) 250 flarnes per second.
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Explain C.SMA"/CAprotocol with flOw diagram. ii4a.

b.
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5 a, Compare two typesl,of'Bluetooth networks and also explain various layers of Bluetooth.
't:" (08 Ma*s)

b. Explain in brief DHCP. '=.i,',r, (04 Marks)
c' An organizatioriis gr4nted a block',of addresses with the beginning address 14.24.74.0124.

The organization needs to have-3 subblocks ofaddresses to use in its three subnets : one
subblock of 10 addresses, otle subblock of60 addresses and one subblock of 120 addresses.

.. OR
a. Explain in brief various categories of connecting devices.
b. Explain the fsll'o#ing :

i) QoS
ii) Congestion control.:.c. Explaiu with a rreat diagram virtual circuit packet switched network.

(06 Marks)

(08 Marks)
(04 Marks)

A netwCIr{< using CSMA/CDr,lras;a bandwidth of 10Mbps. If the maximum propagation tirne
is 25_.6ps, what is the minimuit size of the frarr,r-..e? (04 Marks)

(04 Mar*s)

(06 N{arks)

(04 Marks)
(06 Marks)
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(08 Marks)
(08 Marks)

distance vector routing
(08 Marks)
(08 Marks)

(08 Marks)
(08 Marks)

7 a. Explain with a neat diagram IP datagrarn fog,pat.;"'
b. Illustrate with an example, Linkstate routiq##

,l,r fft_. , ir

8 a. What is distance vector routing? Ex$1aifi the various drawbacffi,of
and a few solutions to overcolrle_ the iarne. H-"b. Explain with a diagram threepQh+ns of mobile IP. T

"*':*'
:.i)l* - Mqdule-S 

"*-?**.9 a. Explain with a neat diqgtdid,TGoback-n protocol. i*1,,,+

4e{' ott#"
10 a. Explain vario.us ;ervices of UDP. {.*,;::', (05 Marks)

b. uornpare c"o"nrieition oriented and connecti6n{ess services. (08 Marks)
l\

c. Suppose;..{i. fM connection is trans-fgrinft a file of 5000 bytes. The first byte is numbered
tOOO1.$tat are the sequence nryrQArs for each segment.4f,= ata are sent in five segments,

each"&ihfoing 1000 bytes? , 
.,r*.=$ 

" (03 Marks)
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